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General Instructions :

Read the following instructions carefully and strictly follow them :

(1)
(i)
(ii1)
(iv)
(v)
(vi)
(vii)

(viii)
(ix)

1-69

All questions are compulsory.
This question paper contains 35 questions.
The question paper is divided into four sections — Sections A, B, C and D.

Section A has questions no. 1 to 14 (Multiple Choice Questions) of 1 mark

each.

Section B has questions no. 15 to 18 (Case study-based questions) and are of

1 mark each.

Section C has questions no. 19 to 25 of 2 marks each and questions no. 26 to

29 of 3 marks each.

Section D has questions no. 30 to 33 of 4 marks each and questions no. 34 and

35 of 5 marks each.
Internal choices are given in some questions.
Support your answers with suitable examples wherever required.

SECTION A

Beti Bachao Beti Padhao Yojana was started by the Government of India
with which of the following objectives ?

(A)  To enrol girls in a bridge course to prepare them for admission to a
school

(B)  To promote gender biased selection process
(C)  To ensure survival, protection and education of the girl child

(D) To provide employment to all

Who does the actual cleaning of guest rooms and bathrooms in a hotel ?
(A)  Bellboy (B) Doorman

(C) Room attendant (D)  Floor supervisor

Which of the following material is not suitable for making agitators in
washing machines ?

(A) Plastic (B) Aluminium

(C) Bakelite (D) Iron
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(D) 5d 60°C Teh I AT shI I I Gl T & Hgl AT 7 |
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4., Use of _ is important for designing tools, machines and
workstations to reduce stress and health problems of the workers at the
workplace. 1

(A)  Entrepreneurship (B)  Ergonomics
(C)  Anthropometry (D)  Physiology

5. What capacity of washing machine would be suitable to handle a large
load of clothes for washing in one cycle in a big hotel ? 1

(A)  100kg (B) 5-10kg
(C) 20-30kg (D) 15kg

6. Which of the following is a Food Supplementation Programme ? 1
(A) National Nutritional Anaemia Prophylaxis Programme
(B) National Food for Work Programme
(C) Annapurna Scheme
(D) Mid-day Meal Programme

OR
POSHAN Abhiyaan was launched in March 2018 at which of the
following places ? 1
(A) Panipat, Haryana (B)  Jhunjhunu, Rajasthan
(C) Kanyakumari, Tamil Nadu (D) Mysuru, Karnataka
7. What is the full form of NACO ? 1

(A) National Arthritis Control Organisation

(B) New AIDS Control Organisation

(C) National AIDS Control Organisation

(D) National Alzheimer Community Organisation

8. The Government of India offers preschool education in urban and rural
areas through : 1
(A)  Creches (B)  Montessori schools
(C) Day care centres (D) Anganwadis

9. Find the incorrect statement from the following : 1

(A) Canning was developed by Nicolas Appert.

(B)  Food fortification is removing of nutrients from the foodstuffs.
(C)  Lactose-free milk is an example of medical food.

(D) Temperature range between 5 — 60°C is known as danger zone.
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Select the correct pair.

(A)
(C)

Warli — Maharashtra
Shola Craft — Gujarat

Match List-I with List-II.

11.
111.

1v.

List-1

(Ways of market
segmentation)
Demographic 1
Psychographic 2.
Geographic 3

Behavioural 4.

(B) Channapatna Dolls — Kerala
(D) Bamboo Craft — Punjab

List-11

(Basis of segmentation,)

Opinion on specific products or services
Regions, climate
Similar lifestyles, interests

Age, population

Choose the correct option from the following :

(A)
(B)
(C)
(D)

1i-1,1-2111—-4,iv-3
1—3,ii—1,11i—4,iv—-2
1—-4,ii—3,11—-2,iv—-1

1—-2,ii—1,111—4,iv-3

Match List-I with List-II.

11.
111.

1v.

List-1

(Related to ECCE)
Toddler

Early childhood

Fear of unknown people
Integrated Child

List-11

(Age)

8 — 12 months
Birth — 6 years
2 — 3 years

Ll

Birth — 8 years

Development Services (ICDS)

Choose the correct option from the following :

(A)
(B)
()
(D)

i—4,ii—2iii-1,iv-3
i—1,ii—8,iii-2,iv-4
i-8,ii—1,iii—4,iv—2

i-8,ii—4,iii—1,iv-2
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13. @ AR 3wy fFmior 3T A wifd & o AR & 9o & fu g8 qwe
e TN fohu ST @ 8 ?
(i)  IrEgfhed
(i) OlclFdriaee STEithTSed
(iii) 9Ty &
(iv) W@rg uiaess

e @ & @&l foshew giw .

(A) (1) 3R (i) (B) (i) 3 (iii)

(€) (iii) 3R (iv) (D) (i) 3R (iid)
HAAT

Rd ! AR fava 1 Aydg AU w8 a1 7 | 9gHg S8 Faeptas
o < YT RN <hl Y89 HIfNT |

1) Tafrcd qvw swame gro fatfa smer o
(ii)  H I fhamehe

(iii) = 3R I 399 H ghg

(iv)  LM/WIgs 3N | gig

frefefaa & @ @ foshew T :
(A) (1) 3R 3{) B) (i) X (iv)
(C) (i) 3 (iii) D) (i) 3 (iv)

14. ‘o8 WA fiem’ 1feH & 399 § ¢
()  =.3s. . /ugH i Tham
(i) o1 Sl T8 ol TcdTEd T
(i) G H I B 3@
(iv) —=Re] 3R AR wrereal i

frafafea o @ gt fomed v
(A) (i) 3 (iv) (B) (i) 3R (i)
(C) (i) 3 (iv) D) ()3 (i)
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With advancement in food and pharmaceutical industry, which
nutritional supplements are being used for nourishing patients ? 1

(1) Nutraceuticals

(ii)  Polychlorinated biphenyls
(i11)) Phytochemicals

(iv) Food preservatives

Choose the correct option from the following :
(A) (1) and (i1) (B) (1) and (iii)
(C)  (iii) and (iv) (D) (i) and (iii)

OR

India is often referred as the ‘Diabetes capital’ of the world. Identify two
possible causes of a chronic disease such as diabetes. 1

(1) Taking diet prescribed by medical nutrition therapist
(i1)  Less physical activity
(iii) Increase in sugar and fat consumption

(iv) Increase in fibre consumption

Choose the correct option from the following :

(A) (D and (ii) (B) (i) and (iv)
(C) (i) and (iii) (D) (iii) and (iv)
The objectives of Swachh Bharat Mission campaign are : 1

(1) Prevention of HIV/AIDS

(ii)  Encouraging deforestation

(iii) Elimination of open defecation

(iv)  Construction of household and community owned toilets

Choose the correct option from the following :
(A)  (iii) and (iv) (B) (i) and (iii)
(C) (i) and (iv) (D) (D) and (ii)
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Qis &
(FE Tet-smeTia w9e)

37T H STAGEH TG 3K 97 G&IT 15 T 18 7% & I Forg |

TR 3R VU] TER AU &9 8 IS §U & | S SHINAl H, g,
ET 3R ITAR | THE Y[er1 F9TaT 8 3R $ H I8 Ffohcd i Im=9R §
T HE KAl 2 | TR T U8 R w1 § qiwer h feufq IR wgear, T 5
qEIIH, TREAAT TR IGT e foh STETATA H WAl & sl 7Y o HgiRor |
ft Agwqul yfieer Fwrd g | W R wwer gedt feufa sk diwor weed
JMETIHATI o TR H RN I i & [T T HeaTehd AGeIH & | Th
ITeR forws fimmd i feurfa o wiwor geef smavaessarett &1 faveiwor st o

@A AT IR ot Gehdl 8 3T 3fd B 9UHet 3R Arfesd ot JeM
T Hehdl B |

frefaRea o @ S99 0 77 B ?

(A) HH AER . -3 WisH

(B) WA ABR . W AW 9T hl ITehdT aTeAT A Tt

() TofE smErR  : 9w Wisd, 8t vieH avg afrifrd

(D) AN GG AN : HHA g3 I RS Ieh RN

erteh TINUr R MR & Gy # fF=rfeiigd o @ 991 soF T8t § 2

(A) 38 59 9wy faferedn ot a1 STan B

(B) WI9uT & fafsrse &1, S <\ & SR 9iwor & Gefa B |

(C) I8 THY &Y ¥ TS sl THLATST T THTLH Hidl 7 |

(D)  Ig UTHIOT =R’} <1 To=ad fEdfd sl aiaT 7 |

o feu a1 oMt o1 AR (A) 3T HROT (R) & 9 T Afehd foham T 7 |

STHYT (A) : et g WieH fgd™ | 9 i gfte § |9l 18R Th el
em © T T Srar R |

FRU(R):  He ¥ AioH Raam &1 21 9g 8 fop it =t diwor fomiy forermi
g e S 7, foee 3|eht R 4 fgu gra ag=mn 9iman @ |

= fou Tu fomredi ® @ Faifeeh STE T AT

(A)  (A) 3R (R) T && 2 3R (R), (A) I &l =& 2 |

(B)  (A) 3R (R) IHI && &, Al (R), (A) ! €&l A1 737 ¢ |

() (A)GE g, dfhd (R) TTeTd 8 |

(D) (AT &, Afh (R) TE 2 |
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SECTION B
(Case Study-Based Questions)

Read the passage carefully and answer the questions no. 15 to 18.

Health and nutrition are intimately interlinked. In some diseases,
nutrition plays a major role in its management and treatment, and for
some it complements the medical treatment. Nutritional status and
support, prior to and after illness, plays an important role in determining
prognosis, recovery and even duration of hospitalization. Nutritional
assessment is required to obtain information on the patients’ nutritional
status and nutritional needs. A dietitian can develop a nutrition care
plan by analyzing the nutritional requirements in state of disease and
also provide appropriate diet counselling and guidance.

Which of the following is an incorrect pair ?

(A)  Soft diet :  Semi-solid foods
(B) Liquid diet :  Fluids high in fibre and fats
(C)  Regular diet : Normal foods, all food groups included

(D) Mechanical soft diet : Mashed and pureed foods

Which of the following statements is correct with respect to Clinical

Nutrition and Dietetics ?

(A) Itis also called Public Nutrition Therapy.

(B) It is the specialised area of nutrition which deals with nutrition
during illness.

(C) It addresses the problems of the community at large.

(D) It improves the sanitary condition of rural households.

Given below are two statements labelled as Assertion (A) and Reason (R).

Assertion (A): In tube feeding, nutritionally complete feeds are
delivered to a patient through a tube.

Reason (R) : Oral feeding means that the patient is nourished with
special solutions which are given through a drip in a
vein.

Select the most appropriate answer from the options given below :

(A) Both (A) and (R) are true and (R) is the correct explanation of (A).

(B) Both (A) and (R) are true, but (R) is not the correct explanation

of (A).
(C)  (A)is true, but (R) is false.
(D)  (A)is false, but (R) is true.
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18. = feu @ oAl =l 1R (A) 3T SIUT (R) s ®9 H 3ifehd foram a1 B |
SFYT (A) : DAl W STHM-3 JET A AUk BId & S HISERIST

AT AT 7 |
FRU(R): I8 Bad ohl AW & OI/dil ¥ o<1 Ghd & |
et fqu T foehedi ® @ walfdeh I9YH W AT
(A)  (A) IR (R) 31 &&1 & 3 (R), (A) hl & =T 2 |
(B) (A) 3 (R) g1 &&t 7, Afeh (R), (A) 1wt =amen 77 # |
(C) (A)TE g, dAfe (R) TTeTd 8 |
(D) (A)Ted 8, wfehd (R) @&l 2 |

Qus 1

19. TR YEERU % &9 § fhgl I T&-OU9R @8 o AW Jaisy s =Xe 91
HER TR o ThATHATT o €9 T TR 1 &b |

20. (%) HL.WIM.U (CARA)HT F1 31 § ? Tagsiial sl shl STaeIeharati i
T T o ToTT 386 Teh SR W TR ST |

AT

(@) TUA.TH.TH. (NSS) & F1 34 8 ? Wd § Jaredl o o o fou g&eh!
Th e ferfen |

21, WA IUAIRAT fohe TehR forshl Hagq o Q0T gUhel o Jalivd § 3Teht Wiid
Bl ITd 3 37 39k kR & S1d 2 ?

22. U TNV HRIshA H Jfad 3 I8 HiET foh sAma@iRes Sited § ¥%d 8 & fau
forE TR ST hIT AT BId & | 319 98 379 HEEId W 94 I &
el ! -0 IR Tg@ St hisral 1 gera < ?

23. U UrST=At Sl ®RET (T.HLTS.) — 2005 & IR Sreamewen e feurfa
9 % SITIR, TR STeaTal cEUTd IR e (3. EE.) % w5 @ g
3Tl I Seci@ HINT |
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Given below are two statements labelled as Assertion (A) and Reason (R).

Assertion (A) : Fish is high in Omega-3 fatty acids which are essential
components of cells.

Reason (R) : They can protect the heart from abnormal heart rhythm.
Select the most appropriate answer from the options given below :
(A)  Both (A) and (R) are true and (R) is the correct explanation of (A).

(B) Both (A) and (R) are true, but (R) is not the correct explanation
of (A).

(C)  (A)is true, but (R) is false.
(D)  (A) is false, but (R) is true.

SECTION C

Name any four self-employment avenues in the field of food processing

that can be taken up as a household or cottage scale activity.

(a) What is meant by CARA ? Highlight its one function to meet the

needs of vulnerable children.

OR

(b)  What is meant by NSS ? Write its one aim in the development of
youth in India.

How do Indian consumers tend to get swayed by enticing sales promotion

gimmicks and fall prey to them ?

In a training programme, Jatin has learnt how life skills help to become
successful in professional life. Which four core life skills would he now

suggest to his team members at his work place ?

As per the National Curriculum Framework (NCF) — 2005 Position Paper
on Early Childhood Education, mention any two basic objectives of Early
Childhood Care and Education (ECCE).

1

2
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Eililu
24. (%) UISA T Ish & FATUR W TN H1 arfieptor hiforw | freft weh TR & T
1 hls Tsh 3BT ST | 2
T
(@) TS IR AT TSlTs o s AT TSy | 2

25. WE AN H @ G AR Qe A % geg § fOfve U9 W faehey
39y 7 | 39 9IS °, e @re geaafashl T i) i 9e1s i i 7, 39
& T 39cTeY feheal TR Sifaeht o FTEY hl SR ITod <hifT | 2

26. IUNIHIST Sl AR g (ATeh) a1l Icure & @iled =fey |’ 3 I
3PT W U 38 HIT I AN AR | 373.TH.ATE. (ISI) ATk hiA-H TS

&1 JHOH % 7 ? 3
27. (%) fam T=R & &7 T U HEwehiell HTEETReh Sl 39 &3 § % 81 &
forT =1g i STravae I IR Sivell & e i | 3
3T
(@) oo T=m 6 fafa & &9 4 ggu mrem (e difsan) & fifasy +
1 T i | 3

28. STEHREh YerTser fafira wmm # syafeea febw Sima 8 fSeeh fafime & g 2 |
(%) Us T, T AU ATEMRIH YA TATUT HEAT FTEAT 3, o I
fafie v # fopu ST ot fopedl =R It hi = 9T |
(@) SATEETS YATSeR ¥ Hichideh Ufgal hl Tgfd & T s @Wgid 8 2 2+1=3

29. (%) v Ufeie w1 | & faftm qlehl 1 3T wd gU @ uered

GTferd foman STt @1 8 |
() T W 6 TE IR g ot e e s S
IYAT 3 oY foman ST @ R
(i) YRd U Q" YEERU U9 FEifiehl § fouiy uTeTshd Yo i ad
Tordt Tk GEAM T A9 §qTsT | 2+1=3
YT
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(a)

(b)

Classify colours on the basis of Munsell’s colour wheel. Provide an
example of any one type of colour.

OR
Differentiate between Structural and Applied design.

Various job options are available in food industry with respect to food

safety and quality control. Get information on any four career avenues

available in this field from your brother who has completed his Masters

in Food Microbiology.

‘Consumers must purchase products with standardization marks.” Justify

this statement by giving two reasons. ISI Mark is the certification mark

of which organisation ?

(a)

(b)

To an aspiring professional in the field of Development
Communication, suggest any three knowledge and skills required
to be successful in this field.

OR

Compare print media with television as a method of Development
Communication.

Commercial laundries are organised in different sections which deal with

specific jobs.

(a)

(b)

(a)

Make a list of any four jobs done in various sections for an
entrepreneur who wants to set up his own commercial laundry.

What do you understand by system of code tags in a commercial

laundry ? 2+1=3

Food has been preserved using various methods since prehistoric
times.

(1) Make a list of four old methods of food preservation, which
are still being used today.

(ii) Name any one institute in India offering specialised courses

in Food Processing and Technology. 2+1=3

OR
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| Ol
(@) () UH 9T & ®9 d G JHERTT 3R TRl & Agw W &9 |
==t HINT |
(i) WA ¥ 99k, g4, ddl S &I @I UGl & Tl & Wb
feraer gru faifa fopr Sma 2 2 2+1=3
wQus ¥

T CH.H. A H AER J@ o YA 0T h qHI B Al @re ekl ohl
qg= T FiEfad 8 |

(%) wE.THLE . w1 o w9 G |

(@) @ 3a | .. T hEa R g 8, 38 diF R
ATy | 1+3=4

(%) I A TS e H I3 fohar 2 | Biedd & fohm fawm 1 =l =@
Ug 3G AfYETeT IR @I HAM ? A & 39 faum g § W
aTett Tehedl M 317 FaTetl < T §18T | 4

AAAT

(@) “oR ¥ g Th U SR K FAN Y AT I H g g b fow
fore Strar 7 fop eafaforn =1 @t 3ok =X & 9o & m SR gfawmd
Y <hl STt 8 | 39 HeH H 372y o Yo i a1 fehegl = TR
& el 1 Ie@ hIfST | 4

A Goa 1 T IR L @I 8

(%) 9% 39H fohT TR STEfdal () T o L Tohdl g ? IS & A1

Tl Akl < GG T |

(@) Il o &0 = e & W A S He =rEar 7, 9 98 fhm wn e
T T gHSA T JI0T AT ?

() IS WeMEe (TdE! ITAR) o GHI Tl ohl TGS IWRH o forw fepsdt

en dehrileh o1 ATH ERIEN 2+1+1=4
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(b) @) Discuss briefly the significance of food processing and
technology as a discipline.

(ii1) By whom are standards for fortification of staple foods like
salt, milk, oils laid down in India ? 2+1=3

SECTION D

HACCP involves identification of food hazards during each stage in the

food chain.
(a) Give full form of HACCP.

(b)  Mention three reasons why implementing HACCP in food industry
1s important. 1+3=4

(a)  Shaurya has checked into a hotel. Which department’s staff will
first greet and welcome him ? List any other three services

provided by this department. 4

OR

(b)  The phrase ‘A home away from home’ is often used in hospitality
industry, to denote that guests are provided with comforts and
facilities similar to their homes. In this context, mention any four
types of establishments who offer hospitality services. 4

Anil is designing a bridal lehenga :

(a) How can he create rhythm in it ? Suggest two ways, with

examples.

(b)  Which colour scheme or colour harmony would he use if he wants
to design the lehenga in a single hue ?

(c) Name any one technique that can enhance the texture of the
lehenga through surface ornamentation. 2+1+1=4
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33.

34.

35.

1-69

JGoHI I AMG HETET o &9 H A Ag@Ul & 3R Ik ATk ITIHT I

ST s faehra & foru fopam St =nfge |

(%) Fgorl o eI JR GUEa Sfiaq w1 gHfeaa e & faw, a9 1999
YA TR g T 98 ohl 75 off ?

(@) 3 dF HRON HI IF@ I eh HROT JGH! hl TGS TG A

ST g |
() IgoHl o fAC Ig-Ha1 gl H YGH K I ATt foheal dF glowna
T ST | 14124114

2 2
() fefaem 7 & w ufafsed Hem ©R # 399 AR feoeR & &9 4 &3
IE TohAT B Sl ohael (S1-g-ToRR (T8 o oI dIR) I&Ai sl SATIR Ll
g |
(i) 39k dH S IALGIrcdl hi A IR S8 Meeh UTEehi i
TR ST <hl S7ULT hl ST B |
Gi) Trafafgd & faw wE 9 forg wee w1 T=T fomam STaT 8 2
(1) 9 % oL IR g
(2)  uftar fFmtor 6 st 3+2=5

rora
(@) O Tk B TSHTER 2 3R U By fesmsi deae e @ |
(i) 39 UISThH Hl I HH d1d ¢ DE Hl 98 R THR
B3I o U T I TEIATEA 2
(i) 39 TH H S & & U & ceagsd SE-a%
T /o SATST | 2é+2é=5
gieaaa geientaal & forg

(i) U /T s9 hl TTEavEeRdl T8l | |

(%) ‘AR FUNU 6 qral WR T HHAT L @1 8 |’ &1 SR SdTd 5Y 36 HAH
&1 M dfST |

(@) YR WRed @Y BdTd, A & e ol gafdd i, HEH TEH,

ot o 3 ey Y § gEEdar +idt 8 | ==l ehifeie foh, 3
ey Had o9 fafie S0 W A bl 8 e hl Al @ | 2+3=5

Page 18



33. It is important to recognise the elderly as a human resource and their

rich experience should be used for national development.

(a)

(b)

(c)

34. (a)
(b)

35. (a)
(b)

1-69

To ensure a healthy and secure life for the elderly, which initiative

was taken by the Government of India in the year 1999 ?

State three reasons why the elderly are considered to be a

vulnerable group.

List any three facilities provided in multi-service centres for older

persons.

1

1+1—+1£=4
2 2

Hitika has joined as a visual merchandise designer in a reputed

fashion store which deals with only ready-to-wear clothing lines.

(1) List three job responsibilities which are expected of her to

attract more customers.

(ii))  Which terms are used in France for the following ?
(1) Ready-to-wear clothing
(2)  Art of dress making

OR

3+2=5

Reema is a fashion designer and runs a fashion designing

institute.

(1) How will she explain the five stages of ‘Fashion Cycle’ to the

new students pursuing this course ?

(ii) Draw a labelled ‘Fashion Cycle’ graph/diagram to be

displayed in her institute.

For Visually Impaired Candidates
(ii)  No need to draw Graph/Diagram.

1

1

2—+2—=5

2

2

‘India is facing the double burden of malnutrition.” Justify this

statement by giving two reasons.

Indian health care services help to promote, maintain, monitor or

restore health of people. Discuss how these health services are

provided to people at three different levels.
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